N of simulated tracks vs transverse vert position N of associated tracks (simToReco) vs transverse vert position | N of simulated tracks vs z vert position

) F T T n 0 =
Q : : o Q F
2 L : : = 2 B
£ : : 3 Si0°k
G105k Beneeeeese ARREREEEEE FRREEEREEER 210° S10°E
= E . N > =2 E
£ 3 : : = £ r
= i : : 7] = -
3] - . . c 3]
s | : : S S10°F
o, : : o, FE
104 Beeeeneeed e freeeeenees @10 E
- : : 0%
103 CRRRIPLT L e e W e 10 L
3 i =" 10f-
r - . i E
B "4“ . : . F+
: : : : 111
10? ?" """ DQOQM_VO00I_R0O0000000T__GIlobal__mkFitNewOLDI000time__RECO
o vof DQM_V0001_R000000001__Global__mkFitOLD-checkDet_ RECO
& B & g £ Dl
©oE : : _ 14 : : 111 . | : L
LA LI RAAEHAAAAAR I |
0.95L 1 h 1 0.95L 1 1 1 0.95 A ! 1 A A
10—2 10—1 1 10 102 10—2 10—1 1 10 102 =30 -20 -10 0 10 20 30
TP vertr (cm) TP vertr (cm) TP vert z (cm)
N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |
%) %) C %)
o k] a
= o [
3 5 %
3] 10! B
£107 £ £10?
%] = 17
c 3] c
8 g 8
o] L o}
4 10 14
10 10
10?
10 !
[ o : . . o+
- ks : j : 3
i o ‘ It 1] | | ; =
1-— ------ bR a a & ol B . AEEEEEE 1- ‘ | : :| | | | : 1:»- B LT
0.95L 1 A A f 1 0.9500 1 1 1 i 1 0.9500 1 1 1 1 1
-30 -20 -10 0 10 20 30 -10 -5 0 5 10 15 20 =10 -5 0 5 10 15 20

TP vert z (cm) TP Sim. PV z (cm) TP Sim. PV z (cm)



	Contents
	Page 1


